Slug70: Corrected RMS (ppm): asym_usl
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Lagrange Corrections Width (ppm) by Eigenvectors
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Slug70: Slope : usl_vs_evMon0 (ppm/um)

|dit_slope| - |reg_slope| (ppm/um)
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Slug70: Slope : usl_vs_evMon2 (ppm/um)

|dit_slope| - |reg_slope| (ppm/um)

-@- Regression

-@- Lagrange

59— ! ! ! ! ! ! ! !
58.5 — f f f

- TN
58:— 1 '\ 1

VR AR T

57.5. . \/ .

. FRTE A VRA
= ' A

—. \ . . .
56.5 P i ! ! ; ;
56— . ! ! ! !
sssE- |

I 1 1 1 1 1 1 1 1 1 1
sl LLL L i b i e i i i iyl

< < < < < < < < < ﬁunNuﬁmber

35

25

15

0.5

=
L

0
-06 04-02 0 02 04 06 08

htemp
Entries 53
Mean 0.3627

Std Dev  0.4206

I

||||
1 12

bs(mini_eig6bpm.usl_evMon2) ) /(ppm/um)




Slope (ppm/um)

58

57

56

55

54

53

51

Slug70: Slope : usl_vs_evMon3 (ppm/um)

|dit_slope| - |reg_slope| (ppm/um)

-@- Regression

-@- Lagrange

R SH R R AN e RN

52

[FFFT

htemp

35

Entries 53

Mean -1.908

Std Dev 0.7357

25

H- 1 1 1 1 1 1 1 1
ettt sl 1l
8 Q8 5 2 2 2 3 S 2 3 @ 385 3 25 =2 -15 -1 -05
0 o o] o o] 55} o] n e}

< < < < < < ~ < ~

3 3
<
‘Run Number bs(mini_eig6bpm.usl_evMon3) ) /(ppm/um)



Slope (ppm/um)
N
o

IRy
(63}

|dit_slope| - |reg_slope| (ppm/um)

Slug70: Slope : usl_vs_evMon4 (ppm/um)
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Slug70: Slope : usl_vs_evMon5 (ppm/um)

|dit_slope| - |reg_slope| (ppm/um)
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